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B.Com. (GENL)/B.Com. (CAS) DEGREE EXAMINATION,
JULY/AUGUST - 2023

- (FOURTH SEMESTER) (CBCS Pattern) (Regular)
COST AND MANAGEMENT ACCOUNTING
(Note: 2021-22 Admitted Students have to answer the
questions in English medium only)

Time : 3 Hours Max. Marks : 75

SECTION - A (5 x 5 =25)

Answer any Five of the following

1. Define the following :
Discretionary costs and Common cost.

S0BRS SoBAKH0 T SRev.
2. Halsey Plan and Rowan Plan.
5By 00000 BB LS.
3. Benefits of job order costing.
2725 €580 sTy0h ergren.
4. Uses of Financial Statements.
PTNODS TR ST,
S. Examples of Marginal costs.
SORE T Ao Seanoe.
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Define Idle Time and Over time
(086) &S B 5800 €50 S
Cost of Sales
€255 KDV DX,
Maximum level and Minimum level.

1083 50800 KIRTIS &SR,

SECTION - B (5 x 10 = 50)

Answer the following questions

a) [Explain the functions of “Management Accountant”.
WEA005 9803065 Ve 0.

OR

\bjf From the following information prepare a Cost
Sheet and ascertain Sales when Profit Margin is
20% on cost is required.

Direct Raw materials 14,70,000
Indirect materials 32,90,000 1
Direct labour 100% of Direct material | u
Direct overheads 30% of Direct labour 9
Factory lighting & rent <1,89,000 £ "\
Depreciation on Plant & Machinery 1,20,000
Interest on overdraft ¥26,000

Administration costs £3,40,000
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Selling and Distribution costs %2,70,000
Bad debts recovered 80,000

Provision for Taxation 260,000

EID35 ARE00RDOG S o5 SOTrEabuso. 00h0 oo Jabad
20 TB500 50 TOERT, esifyseen woBo K0,
B85 20600 &7, 14,70,000

$36° 20630058y 577, 2,90,000

(58555 (850 (9858 2e3BAEE"100 oo

(5% 8230276y (5% 306" 30 TES0

550 Bedoh 5000k 63 &, 1,89,000

3;0&5 000 abogre Edibde &r. 1,20,000

.36 (&7 2 ¥ &, 26,000

gser a0 8. 3,40,000

e95y5Pe0 000 0B Iy &, 2,70,000

33578 0 erden &7, 80,000

ST S8 dovyeao &, 60,000

10. a) Explain the following :
IS TR D3Vo0s.
Maximum level
RORRE 0 J5 Deg
Minimum level
@g\ﬁam 75 ey

S-1006 3] [PT.0,




b)
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Re-order level

SO e300 JODHOR 000

Economic order quantity (EOQ).
eSS KGR eath SOTERIL.

OR

Calculate the earnings of the workers ‘x’ and ‘)’

under straight piece rate and Taylor’s differential
piece rate system.

Normal rate per hour is 125
Standard time per unit 40 seconds

Differential Piece rate :

80% of piece rate when below standard.

120% of piece rate at above standard

Where the workers have produced in a day of 10
hours as follows :

x = 850 units

y = 980 units

A% D3BS3200:5006 S0 x” Sodakw ‘Y’ cﬁpgbeﬂwcﬁ)m
BOBI00. 020e5 2O T 500 $o80K0 b Bty Forey
R0 G (575550 B0,

KOS PGSEs Ot &, 125

2.5 AT E:85B3 SRS EFress SPeiin 40 DD

%%ggﬁ&bz
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11. a)

b)
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29,38 e e aprney TEAHD AHTVET SO
515 5> 80 3850 oot 50050

25 B8 120 FEDD ISYCD TS D AT EPER 0T
) JOFOT oot
25,024 10 Hot20 &)D S50 :
X" S0 &AW Abrrdew 850
Y’ 50BN 658 T AT 980.

Explain the features and objectives of Job costing.
2°2) S'0N TR0 S00a0 Groiren JSBoIR.

OR

The following information relate to Job No. 999.
Materials used <1.82,000

Direct Wages :

Department i) 520 hours @ Y125 per hour
j) 510 hours @ X110 per hour
k) 450 hours @ X100 per hour

Variable overheads :
i) 15000 labour hours = %6,00,000
j) 18000 labour hours = %8,10,000
k) 16000 labour hours = %6,24,000

[S] (PT.O.
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You are required (O calculate the cost of the job

that the price gives profit of 20% on selling price.

g S0 999 25023050 (SO DXL FRCERHA
SOGBFAODS edoahéy 6.1,82,000

BEE T !
&::)vé;‘boes 1) 520 3 Kotoen, &8 Kotk 8125

j) 5103 Kotoew, 2850t 8110
k) 450 35 Hotoe, &8 Koe)%d & 100

56 8.2562Cy -

CERo08d i) 15000 @#03: Hotens 8. 6,00,000
j) 18000 (#5000 Kotoews 8. 8,10,000

k) 16000 #5052 Koot &. 6,24,000

2 J305200300¢ 227258 0220600 32080 Py 8O0 O

GRT0 20 T80 €50 SRS e 0G0 Y TR

12. a) Explain the uses of Financial Analysis.

;_cht(o\, % t s = - Ty 4
Slos w:a:’,m CodOITTT 0 DSBOKN00.

OR

810
06 6
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\pY From the following information prepare a comparative
Financial statement and analyse the results.

Liabilities 1-4-2021 | 31-3-2022 | Assets [4-2021 | 31-3-2022
3 3 g i
Share capital 1,00,00,000 {1,40,00000 | Building §0,00,0001 72,00,000
Reserves & Surplus | 740,000 | 8,00000 | Plant 60,00,000{ 70,00,000
Secured [oans 30,00,000 1 20,00,000 | Motorcar 10,00,0001 30,00,000
Bank overdraft 15,00,000 | 10,00,000 | Loans&Advances | 800,000 --
Creditors 10,00,000 [ 250,000 | Stock 4000001 3,50,000
QOutstanding rent 5,00,000 -- | Debtors 3400001 3,80,000
Cashat Bank 200,000 120,000
1,67.40,000. {1,80,50,000 1,67.40,000 | 1.80,50,000
ET05 J50003500¢s EoemrE s 505 RS SAFEDH I Tgarossiio.
AN [-4-2021 | 31-3-2022 | eséoeo 142021 31-3-2022
3 3 3 3
TET TS0 1,00,00,000 11,40,00,000 | asren §0,00,000) 72.00,000
Ot & ibiky 740,000 | 8,00,000 3;0&5 60,00,000| 70.00,000
o eweren 30,00,000 | 20,00,000 | drerhstd 10,00,000] 30.00,000
TIE0EY 1500000 | 10,00,000 65‘5‘3536011) §,00,000 -
| @G“S:)DJSD
(N ALY 1000000 | 250000 | J% 400000 3.50,000
SHorsieds o 500,000 ol SR 340000 3.80.000
“ ° robsh D 200000] 120000
L 1,6740,000 ] 1,80,50,000 1,67.40.000 | 1.80.50.000
13, a)  Write in brief the assumptions and uses ot Marginal
costing.
ESJ“QR‘)@ goggoﬁ E;Jjgojjnw 3 601 ILTRRISHINANVLIN SloX) NIV

&; - PT
1006 17 [P.T.O.
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OR
b) Year Sales Total cost
3 N

2020-21 50.00,000 42,00,000
2021-22 60,00,000 48,00,000
From the above information , Find
i) PV ratio
ii) Variable costs
iii) BEP

S-1006

iv) Margin of safety

v) Fixed costs

10 382200 K00 Gob T¢I SHEH0
1 T 4 AN\

1) 1:36:350?53"63

1) 9.5 (B.E.P)

V) 55 50 25y o0

V) QU0bren
BO%BN50 o B0t SAB0
s S o

¥ X ¥
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